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1) Explain the concept of a myv npn?

2) What is the question of the xax (°"wn)?

3) According to the answer of »ak, why is it obvious that in a place where they do not hire

others to do the 12>72, that it is not a myv npn?

4) What is the wr7n of »aR in regards to a place where they hire others to do the mxn?

5) If so, why is the 70w trying to back out from the deal (>"wn)?

6) According to the R"aw", when did the mnnoni non take place, and why ('o1n)?

7) According to the 1", when did minnoni nvon take place, and how does he answer the nivv of
the X"awn?

8) In a place where they hire others to do the 7»>72, does the 2°>w»n have to cover the expenses of

the "0w?

9) Explain the 7120 of those who say yes?

10) Explain the 7720 of the 7" who says no?
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